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cos sin


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




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
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
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
  





















 
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   OP 

   PQ 
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
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
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
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        

   P

OP    Q

lim
 → 


PQ
O

    

    

       ≥   

                     

∩   


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BC   CD   cos∠BCD   
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 

   

  










   ≤ 

    
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 





  ′      



이 문제지에 관한 저작권은 한국교육과정평가원에 있습니다.

- >0

C

x- 6
≤ 2
-만

2

V x ≤ 6

a4 a 5 a6
az= - 2그

뗘

1
-
남 .

- 4le > 6 LX ]네

as= - k + 2
C - J

ce]

s
K
3

- 3K -4lat1 o
ICE

3

1k7
x3

- 21c + 8 GJ [
G)

~>

ii
통K

25
π
)

-sktl 6 t - 4kt6
l - )k =

Ikg
-4kt 26 명Cy

데

33침

fca = X42 - xt 3

f= 32+개



       

    



 
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    log     

 

  

    ≠

     

     

     

     

 

   ≥ 

 ≠ 

   



   ′



 
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   

      

 
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     

    

 
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
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  ×   ≤ 
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
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  

 
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
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
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


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        sin

P  sin  P 
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